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(x +1)? =2
(8 +a)? =7
(3x — 5y)% =?

(a — b)? + 2ab =7

x+1D)(x—-1) =2

2x—-1)2x+1) =2

(x?—-6)(x*>+6) =2
2a-1)R2a+1)—R2a+3)(a+1)=?
. x2=9=0

10. x> +4x+4=0

11. x> —4x+4=0

12. x?> — 8ax + 16a?> = 0
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x® +18x>+72x* =0
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x+7<3x—-5o0rx<?2
x+9<4x—6o0rx >2
x+1<10and3x > 21
x<3andx >6
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x%>-1
x?>1
x?>—3x>4
x> —4<0
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x“+3x+2

—<4
2x-1

+4 +2
2x%2-x—-6  x-2
x3—x?2-2x<0

x%2-3x—4

L5 <1
x“+x-20
x+2 3 3
2 - >
xX“+x—6 xX—2 4
x+3 3
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" 3x2-5x-2 T~ x2-4

(2zt — 4ac)? =?
x>+9x—64=0
x2—-7x+12=0
xZ-5x-14
x2—4x+4
x*—5x24+4>0
[x?2—7] <2
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x—y=28
{3x+2y=24

4x =8y + 16
{x—2y=24+2x
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3x—y=5
{5x+2y=12
y+x =14+ 2x
{2(2x+y)+3=10—x
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{ (x+2y)(x—y)=0

(x—1Dx+2y+3)=0

2. What is the product of all solutions for y?
x%+5xy —6y2=0
{ x%+xy =120

3. What is the sum of all solutions for y?
x? —3xy —4y? =
{xz+y—2y2 =-2

4. What is the sum of values of x?

Xy = —6
{xz +2y? =17
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1. Solve using “hatzava”

6x+y =12
{x — 2y =24+ 2x
2. Solve using “hashva’at megadmim”
6x + 4y = 18
{3)/ —2x =20

{ xy =2
2x% —5y2=—-6
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9 n9xw 2 |nan

10 n7xw 4 |nan
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12 n7xw 2 1nan

11 n7xw 4 |nan

na vy —4 nRe 5 nan
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A6 ,X6 ,12 ni7xw 1 |nan
8,5 ,4 nixw 2 |nan
10,8 ,6 ni?xw 3 |nan

4 n7xw 4 |nan

8,6 nixw 5 |nan
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log,1=0,log,a=1

log.(a-b) =log.a + log.b, logC% =log.a —log.b, log.(a") =rlog.a



log,a = izz—zz, log, a = ogaD
xlogab = plogax plogra — g
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76,26 ,5 ,ni7kw 1 |nan

7,6 NiYRY 2 |nan

9,7 nixw 3 |nan

8,6 ,5 ni"xw 4 |nan

11,10 ,5 ni"xw 5 |nan
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na 'y — 15 07Rw 2 |nan

1 n9xw 5 |nan
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sinx = —sin(—x), cos x = cos(—x), sin x = cos(90 — x), sin® x + cos?x = 1,
sin x

tanx =
cosx

11 n%xw 3 |nan
15 n7xw 4 |nan

na vy —9 0w 5 nan
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sin 2x = 2sinx cosx, cos 2x = cos?x — sin?x = 2cos?’x —1 =1 — 2sin® x
sin(x + y) = sinx cosx + cosx siny

cos(x +y) = cosxcosy ¥ sinxsiny

, o (xtYy X—y
smx+smy—251n( 5 )cos( 5 )

x + X —
sinx—siny=2cos( 2y>sin( Zy)

x + X —
COSX — COSYy = —ZSin( 2y>sin( Zy)

B x+y xX—=y
cosx+cosy—2cos( 5 )cos( 5 )

11,9 ,8 ni’xw 1 |nan

na 'y — 13 n7Re 2 |nan
14 "9xw 2 1nan

na vy — 12 n%Re 3 |nan
14 .13 ni7xw 4 |nan

14 n9xw 5 |nan
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1+3+5+-(2n—1) =n?

5 7 2n+3 1 1
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